

Assignment 2

①  $y'' = 2x^2 + 2x$

$y'' = 2x^2 + 2x$

$\frac{dy}{dx} = (2x^2 + 2x) dx$

$y' = (2x+1) e^{x^2+x} + 2x^2 + 2x$

$= e^{x^2+x} [(2x+1)^2 + 2]$

$\therefore y'' = y' (2x+1) + 2x$

②  $y''' = y' (2x+1) + 2x$

$y'' = y' (2x+1) - 2x = 0$

$w = y''$

$v = 1, v' = 0$

$u = y_2, u' = 2x+1$

$w = u'v + uv' = 1$

$0 + 2x + 0$

$w = y' (2x+1)$

$v = 2x+1, v' = 2, v'' = 0$

$u = y', u' = 2x+1$

$\frac{1}{2} w' = u'v + uv' + v(u'v' + u'v'')$

$= -y''(2x+1) + (2x+1) \cdot (2x+1) = 0$

$= -y''(2x+1) + 2x(2x+1)$

$w = -2x$

$v = -2, v' = 0$

$u = y, u' = 2x$

$w' = u'v + uv' = 2x$

$y'' = 0 + 2 - 2x = 2 - 2x$

$\therefore y'' = y''(2x+1) + 2x(2x+1) - 2x = 0$

$y'' = y''(2x+1) + 2x(2x+1) - 2x = 0$

$y'' = y''(2x+1) - 2x(2x+1) = 0$

15/07/2017

$$y^{(n)} + y^{(n-1)}(2n+1) + 2y^{(n-1)}$$

①  $y = x^2 e^{4x}$   $f(x) = ?$

$$V = x^2, V' = 2x, V'' = 2, V''' = 0, V^{(4)} = 0$$

$$u = e^{4x}, u' = 4e^{4x}, u'' = 16e^{8x}, u''' = 64e^{12x}, u^{(4)} = 256e^{16x}$$

$$u^{(5)} = 1024e^{20x}$$

$$f^{(5)} = u^{(5)}V + n u^{(4)}V' + \frac{n(n-1)}{2!} u^{(3)}V'' + \frac{n(n-1)(n-2)}{3!} u^{(2)}V''' + u^{(n-3)}$$

$$\frac{n(n-1)(n-2)(n-3)}{4!} u^{(n-4)} u^4$$

$$f^{(5)} = 1024e^{4x} (x^2) + 15x^2 (256e^{4x}) + 60x (64e^{8x}) + 60 (16e^{12x})$$

$$f^{(5)} = 64e^{4x} (16x^2 + 60x^2 + 60x + 15)$$

②  $x^2 y'' + xy' + y = 0$

$$W = x^2 y''$$

$$V = x^2, V' = 2x, V'' = 2$$

$$u = y''; y' = y^{(n+1)}$$

$$W^{(n)} = u^{(n)}V + n u^{(n-1)}V' + \frac{n(n-1)}{2!} u^{(n-2)}V'' + \frac{n(n-1)(n-2)}{3!} u^{(n-3)}V'''$$

$$W^{(n)} = x^2 y^{(n+2)} + n y^{(n+1)} - \frac{2x + n(n-1)}{2!} y^{(n)} + 0$$

$$W^{(n)} = x y^{(n+1)} + n y^{(n)}; W = y, u = 1, u' = y, V = 0, u^{(n)} = y^{(n)}$$

$$W^{(n)} = x y^{(n+1)} + n y^{(n)}; W = y, u = 1, u' = y, V = 0, u^{(n)} = y^{(n)}$$

$$f^{(n)} = x c y^{(n+2)} + (2n+1) c y^{(n+1)} + (n^2+1) c y^{(n)} = 0$$